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Free Response Practice #3 (6 points)

3. Answer the following questions related to aluminum and one of its compounds.
a. Consider the two chemical species Al and Al**, .
i. Write the electron configuration of each species. (2 points)
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ii. Explain why the radius of the Al atom is larger than the radius of the AI** ion. (2 pomts) (.,_klt:hff )

b. The A3 ion is isoelectronic with the Ne atom. From which species, AI** or Ne, is it easier to remove an
electron? Explain. (2 points) (Tc.;‘f’iﬂj w/ Cowlonb's aw,)
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